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PART-I GENERALAWARENESS / KNOWLEDGE

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta
(C) Hyderabad (D) Mumbai
2. The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun
3. The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953
4. Bijapuris known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
5. Light from the Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
6.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
7. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
8.  The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
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1.

BTRg Sol=IIR o 31T 3ifaq fhde e 89
30U BNG—HET WR W | F=ifeiRad o & waf

IBI1 JIUAT IFfH X H Wolr?
(A) feeef (B) el
(QRENEIE! (D) g%

YR IRy HiSsed & T Hal
Rera 27

(A) Bl
(C) 8 faeelt

B) wrfifers
(D) <&RTg

RITIRIS T BT AT Be gAY 21?
(A) 1962 (B) 1948
(C) 1920 (D) 1953

ISR frga ford ST SImar &7
(A) HIYUT GEIRAT &

(B) et TS

(C) 3ifar gfte aratr &

(D) THAeeR &1 ufa & ford

I BT UHT §H I fda-il @i § ugadr 27
(A) 2 fiFe (B) 4 fiFe
(C) 8 fATe (D) 16 THTS

fr=feRad § | AR &7 gad9 FHal B
27

(A) o= Rig waa

(B) TH0 ¥+ RiE

(C) v f37og]
(D) Y BT

3 Rigrd R 6 T b & AR
RIS 3R & AN | FrefaRad 7 4 faat
UM A& Dl SITel?
(A) THRTam

(C) HeH

B) FE@ ma
(D) rfaaRka &
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9. Who was the regent of Akbar in his early days ?

10.

I1.

12.

13.

14.

15.

16.

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

9.

10.

YRS BT | JHeR & RIUEHATAR DI a1?

(A) 99 Bopet  (B) ¥l

(C) AHRIE (D) TresxHa
faspe RIS 3fdRel b= Pal Rerd 87
(A) frodqgRa (B) F%

(C) exTETE (D) §7Telo

PART-1 ELEMENTARY MATHEMATICS

Find the HCF of 54, 288, 360 :

(A) 18 (B) 36
(C) 54 (D) 108

What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(©) 216 (D) 432

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after

3 years ?
(A) Rs. 1380 (B) Rs. 1290
(C)Rs. 1470 (D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs.2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIUA
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12.

13.

14.

15.

16.

54,288,360 &1 HeTH AHIUAAD ST HIFTA?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT THTH AAIATD ST DIfTI?
(A) 54 (B) 108
(€) 216 (D) 432

5200 U B gARIRT W 6 ufaerd arfie & e

| T U BT ARV AT fha-r Rm?
(A) 450 ST (B) 524 T
(C) 600 wT (D) 624 T

1200 9 &7 g=RIFT 5 gfaerd ARy arf¥d
TS BT SR ¥ A9 g9 978 fha=T 8T SIREf?
(A) 1380 T (B) 1290 &Y
(C) 1470 T (D) 1200 ®TI

2100 U BT F=RI 5 UfRrd &1 A ashgfs
o &% | & a9 918 fdhas & S

(A) 2300 T (B) 2315.25 0

(C) 2310 ®T (D) 2320 T

afd CANDLE &1 f&il ge (@1s) # EYPBNC
forect € 1 FLAMES &1 39T @3¢ H a1 forel?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA
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17.

18.

19.

20.

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750

(A) 16 (B) 28
(C) 49 (D) 54

In a picture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old
man related to Ram?
(A) Father

(C) Brother

(B) Grandfather
(D) Uncle

Choose correct option in the place of question
mark (?):

? 10 40

7 12 50

9 14 60
(A)3 (B) 5
©) 8 (D) 4

Evaluation of 83 x 8 x 87 is:

(A)1 B)0
©) 8 (D) None of these

21. Find odd one out:
(A) Excel (B) Mouse
(C) Desktop (D) Key
22. Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
23. With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting
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17.

18.

19.

20.

21.

geAfag ®I IFa Aeey 9 [ SINE -

2 4 6

18 ? 30

162 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

IR R T UF rF @I @ 79 F
% 39 95 =afh & Y3 W YF &1 9rar 2 ']
P J§ A T FEY ©

(A) faar (B) mifae

(C) e (D) =T

U3 (?) B M ) 3fed faded &1 a9

DY

? 10 40
7 12 50
14 60

(A)3 B) 5
©)8 (D)4
8 x 82x 85PT B © :
A) 1 B) 0
©8 (D) SWRIH H PIS &I

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

INRGE (B) #r3¥

(C) SEher (D) &

. ¥ W el d oG &1 T IR ¢
(A) AT (B) it

(C) TR OEIEN

. QAg 9930 BT HeY e WA 87

(A) RS aa)w

(C) frde (D) gfe
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24.

Direction : In which answer figure specified

components of key figure are found ?

Key Figure:

Answer Figure :

< A

(B)
A

(D)

Direction : In Q. No. 25 and 26 a related pair of words is

25.

26.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 27-30) Choose the correct altenative

given to replace the Question mark (?) :

27. NUMERAL:UEALRMN: ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
28. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
29. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
30. PNLJ:IGLC ::VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
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frder : I A IR ATHIT H FERT AR & faere

:
:

NCREEGIG

BN I A

IR G

@

<A+
(B)
A
&
(D)

26 ¥ Y&l BT Heferd SireT faam
fawedl 9 ¥ 9 Sie & g
ST dfted & fod T e ST Gey <9Iidr =

ENQUIRE :ASK ::
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fder : ueH wo 27 —30 ¥ T Aweul d 92 Ay

27.

28.

29.

30.

BT T DI S Y9 g &l W4 of 9 ¢

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG ::NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR::BCDE:?

(A) KLMJ (B) KLMN
(©) IUVM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
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PART-I HINDI

Rrdervo 31 9 32 ¢ FrfeRad aral § R g 39 O O W ST & IWS forv ve v

# Ffe 2, 99 fafzd s DIT—HT 77 |
31. (A) T (B) ST=HTeT
(A) TP B AGIT (C) garTg (D) ¥R
B) T &1 A4 _
(C) 81 &R oIl 40. ;Lé@ﬁgfﬁawﬁaﬁmww
EH —7 B
DI e (A) 3TThYD (B) A-HIE®H
32. (C) e (D) IRl
(A) oo™ A fA=ar
(B) Y& ¥
(C) wrify Aot &
(D) ®1g Ffe
33, U BT fAdH 7 &
(A) <g (B) Bl
(C) 3rgt (D) B
34, IO BT fIdW T &
(A) #11d (B) 3%
(C) ufiig (D) T
35. ‘3 BT TR g el B
(A) 3agd (B) i
(C) 3t (D) ve

36. ‘BH DI UGN I LI B
(A) UHS (B)@jw
(C) Starst (D) B

37. BRI @1 "' W e ©
(A) W& @1 HAS  (B) WES YT O]
(C) I 28 9] (D) THAIHT @ &

38. AT B R P13 ¥
(A) ARH—9Ta I <1 8 A<
(B) & &
(C) SIBT 4TSI BRI

(D) 3TYYT BHRAT
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PART-I ENGLISH

Direction (31-32) : From the given alternatives in each

31.

32.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (33-34) : In each of the following questions, a

33.

34.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in
the morming

(B) I brush my teeth every day at 7 O’clock in the
morming

(C) I brush my tooth every day at 7 O’clock in the
morming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (35 -36) : In each of the following questions,

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

35.
(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious
CARPENTER-06

36.

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Directions (37-38) : In the following questions, some parts

37.

38.

ofthe sentences have errors and some have none.
Find out which part of a sentence has an error. If a
sentence is free from error, then your answer is (D),
i.e. No Error :

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Everycitizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (39-40) : In each of the following questions,

39.

40.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... of lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so
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PART-II CARPENTER

41. Whatis the length of Tenon saw?
(A)25cmto30cm
(B) 20cmto 25 cm
(©)20cmto 35 cm
(D)30cmto 35 cm
42. Whatis the use of Dovetail saw?
(A) to make marks
(B) to make shallow cut
(C) to make large cut
(D) None of these
43. Whatis the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm
44. When is the key hole saw used?
(A) to make the hole
(B) to cut from innerside of wood
(C) to make the circle shape of wood
(D) Both (A) and (B)
45. Which tool is used to make small curves ina
confined space ?
(A) Rip saw (B) Compass saw
(C) Cross cut saw (D) Firmer chisel
46. Whatis the length of compass saw?
(A)20cmto 30 cm
(B) 25cmto40 cm
(©)30cmto40 cm
(D) 50 cm
47. Which saw is used for cutting the thick wood
perpendicular to the grain ?
(A) Tenon saw (B) Dovetail saw
(C) Cross cut saw (D) Rip saw
48. Whatis the length of Bow saw?
(A)25cm (B) 25cmto 35 cm
(C)35cm (D)35cmto40 cm
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41.

42.

43.

44,

45.

46.

47.

48.

S G 3R B TS fbd= Bl 27
(A) 25 010 & 30 HOHI0
(B) 20 H0¥10 3 25 HOHI0
(C) 20 010 & 35 HOHI0
(D) 30 J0¥10 ¥ 35 HOHI0

SIc A BT YT fbw ard & forw foar
ST 87

(A) 9 o & forg

(B) BIC & g1 & foru

(C) TS Pe o™ & fory

(D) 379 & ®Ig el

Ry & ®1 ofwrg fbaeit gichl 27
(A) 60 010 (B) 80 010
(C) 70 |o¥10 (D) 50 |o¥I0

P B | BT TN He fHar Srar 287
(A) G R & ferg

(B) AHS! Bl TR A Hled B folg
(C) THSI DI Id ATHR I & folg
(D) (A) 3R (B) ar=ii

BISI ST ¥ <31 RS B & v bt Suawor
(3NSTR) &1 WA fohar STrar 87

(A) Ry =t (B) ®¥IT<T AT

(C) H1F dc |l (D) BFR foraTat

HHRT AT B TS {27
(A) 20 H0¥0 ¥ 30 HOHI0

(B) 25 H0HI0 40 F0HI0

(C) 30 |00 & 40 HOHIO

(D) 50 010

e MR &1 AN AT bl DI NI H
PIe B BT AT 87

(A) T (B) Saca At

(C) %< de |l (D) Ry <t

a1 If fopd o= Bt 27

(A) 25 HoHI0 (B) 25 J0¥10 ¥ 35 HOHI0
(C) 35 |oHI0 (D) 35 |0HI0 | 4090¥10
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49. What is the property of coping saw blade?
(A) Longblade (B) Verythinblade
(C) Thin and short blade (D) Thick blade
50. Whyare the chisel used?
(A) Moulding work
(B) To make the hole
(C) Both (A) and (B)
(D) None of these
51. Whatis the length of Rule?
(A) 30 cmand 60 cm
(B) 2 ft.
(C) 4tt.
(D) 0.1 meter
52. Trysquare is used to make which angle?
(A) 30° (B) 60°
(C) 90° (D) 90° above
53. Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°
54. Which tool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge
55. Whatis the use of Marking knife?
(A) to make mark
(B) To cut pencil’s mark
(C) To make the hole
(D) All of these
56. How many types of calliper are used?
(A)1 B)2
©)3 (D) 4
57. Whatis the use of Divider?
(A) To make the mark
(B) Todivide
(C) Tocut
(D) To make the circle
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49.

50.

51.

52.

53.

54.

55.

56.

57.

P AT BT ofs AT BT 27

(A) eFHT (B) 984 Udell
(C) Uqelt 3R BT (D) HIeT

farcTest &1 wanT qaf fehar Smar 87
(A) R &= & forg

(B) IR IR B forg

(C) gRRg qeI1 FoFarl & fory

(D) 394 9 fxfl & forg =&

el B oIS fhd- 27

(A) 30 0. 10 TAT 60 H0.H10
(B) 2%

(C)4me

(D) 0.1 Hrex

2l WhaIR fhat f$ilY &1 &9 999 & &
SIS IIL
(A) 30°
(C) 90°

(B) 60°
(D) 90° & 31fer®

Hex WARR fha f$H &1 o7 a99 § &H
JTaT BY
(A) 45°
(C) 30°

(B) 30°
(D) 90°

0° ¥ 180° Td BN IV g1 & forq o
TSI T I i?bql STl é?

(A) TTE RR (B) #Iex ARR

(C) 9t TR~ (D) TX U

BT A18® T YANT fhar rar 27
(A) 9 o= @ forw

B) Ut & fRIF &1 He &=1 B forg
(C) I F1 & ferg

(D) STgad wl

PR fhad TR & B 27
(A1 (B) 2
©)3 (D)4

fSarseR &1 R B BT B ?
(A) o o= & forg

B) faaro= @ forw

(C) Be T & forg

(D) 9 9 & forg
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58.

59.

60.

61.

62.

63.

64.

65.

66.

What is the use of plumb Bob?
(A) To measure plainness

(B) For cutting

(C) To measure straight length
(D) None of these

Which tool is used to make parallel lines on
wood?

(A) Marking gauge
(C) Calliper

(B) Wing campass
(D) Divider

At which angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°

Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane
(C) Gilmit

(B) Spoke shave
(D) Plough plane

What is the use of G-clamp?

(A) High pressure on wood

(B) To divide in between of wood
(C) To cut the circle shape of wood
(D) All of the above

Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these

What is the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood

(D) To make the mark

What is the breadth of blade of smoothing plane ?
(A)5cm (B) 7cm
(C) 10 cm (D) 6cm

Write the second name of sash clamp?
(A) Carpenter bench vise

(B) G-clamp

(C) Bradawl

(D) Bar clamp
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58.

59.

62.

63.

64.

65.

66.

T §fd BT TN w7 -7
(A) TS A9 B foTg
(B) ®rest & forw

(C) AU AT & forg
(D) §9 ¥ B ol

AhS! BT FHAMR XEG¢ 999 & forv fba
ISR BT TN fhar SIrar 87

(A) FIfHT A5 (B) a1 @

(C) Bl (D) fEargsR

O i | <ls Bl fbd M & B1or W aman
ST 87
(A) 40°
(C) 50°

(B) 45°
(D) 60°

. XA @ Yool H o1 ICI8d (style) T X (rale)

H Fefl 999 & fov b SR &1 9anT fhar
ST 87

(A) WIS @i
(C) Rrartie

(B) W% 39
(D) &I wiF

SH—®He™ &1 WA 7 fhar Srar 87
(A) TP B HIR TG ST B oIy
(B) AdS! Bl 1 H 3TelT &R & foly
(C) ABS! Bl TMATHR Bl & oIy

(D) SuYer T

ST TAT BIC FIRI IR & oY fHd 3R
ST YANT faar S &?

(A) XTiT 59 (B) SISt

(C) = AT (D) 3774 & BIE e

e S BT YA T fHar Srar 27
(A) T UPR & Bl 9991 & oIy
(B) THS! Bl a4 & forw

(C) TP B & forg

(D) o ar= & forg

T @ B IS B diers fha Bt 27
(A) 5 0.0 (B) 7 Ho.#0
(C) 100710 (D) 6 90.H10

AT ol BT SR 5T A F ST I 27
(A) PRUCR §+7 9189

(B) St

(C) seTed

(D) IR—FI
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67.

68.

69.

70.

71.

72.

73.

74.

Which tool is used to keep the correct saw blade
teeth?

(A) Files

(C) Saw-setter

(B) Marking
(D) Pincer

What is the use of pincer?
(A) To tap nails

(B) To drawn nails

(C) Both (A) and (B)

(D) None of these

Plaining is the ............ process:
(A) First (B) Second
(C) Third (D) Fourth

Which work is called as chamfering:

(A) Cut the outer surface

(B) Make the edge

(C) Sharp the corner

(D) Sharp the edge of joiner and corner

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

Ifwood is cut above 45° angle than it is called
as?

(A) Batten
(C) Bevel

(B) Milled
(D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng
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. O % <1 ISR ¥ Eep by S 87

(A) BISel
(C) |Af—%ex

(B) AT
(D) =R

fO_R &1 9IRT T fHar o 27
(A) DI BHA & forg

(B) Tl a1 @ forw

(C) (A) 3R (B) <1
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@IRT (T o1 dir fhar 272

(A) g&ell (B) T
(C) TR ERI

foe drd o IR BEd 87

(A) 91X e aTell |adg Bl Brel

(B) fHAR g1

(C) DT BT BT

(D) 9TeR fe@™ arel T B9 9T dAds! & I

BT SIeAT

el fra wed 87

(A) THS! B T D HIR Udh IGHI SISl
(B) ATl Pl fHaIRT & SireAT

(C) AP B 2 H=RI BT fHal fhIR TR SISl
(D) BEl W ABS! BT SISl

RS § 3R BHeTs BT IV 45° F SITGT Il
27 S T B 87
(A) e
(C) diaet

(B) fics
(D) g=IRT

dhS! & HRR B Adg BT TS Idaell Bl
ABS! I gdell e I Th P T Hed &7

(A) diaet (B) AIfSTT

(C) de (D) dffRaT

qrel & RRI &7 WNeT qAT IR 999 B /T
FHEd 87

(A) T=ple (B) ¥

O (D) wfT
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75. Whatis the use of hinge?
(A) To fix chowkhat
(B) Connect the shutter of door, window, ventila
tor to chowkhat
(C) Where the fastening are subjected to
considered tensil stress
(D) All ofthese
76. Whatis assembling?
(A) Todivide
(B) Break
(C) Tojoining
(D) Joining to already prepared parts for obtaining
required
77. Which of'the following is holding tool?
(A) Carpenter bench vice
(B) Rebating
(C) Caliper
(D) Nails
78, e is a wide thick and wooden heavy board :
(A) Rebating (B) Seasoning
(C) Planing (D) Plank
79, e, is a piece of section rectangular or square
of wood used at joints of wood:
(A) Plank (B) Screw
(C) Batten (D) Bolt
80. To make the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding
81. Which hammer is used to pull out the nail from
wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet
82. What type of wood should not be used for door
frame work :
(A) Merandi (B) Teak
(C) Saagwan (D) Shisham
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FHeoll BT YART 1 fhar S &

(A) IRge A B foTg
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(C) AIfET
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(D) 9T

PIF AT BATST Bt bTelT & B T &
(A) 91 fUd BdreT  (B) i fUe gedteT
(OECIEEIS) (D) THS! BT geiTeT

P Al bS] TRATSl & RIS g1 | YART T8
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(A) RIS
(C) |RTaA

B) E®
(D) WR™
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83. Whatis the characteristics of endogenious tree :

(A) More in width
(C) More in length

(B) Low in height
(D) More in layer

84. Whatis the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullaryrays (D) Pith

85. Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer

86. Which jointis not a longitudinal joint :
(A) Lapingjoint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint

87. Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail

88. The age of tree is determined according to the :

(A) Heart
(C) Bark

(B) Closed rings
(D) Madullary rays

89. Which door is very low secured :
(A) Flush door
(B) Ledged door
(O) Rolling steel door
(D) Panalled door

90. Which door is used for privacy & ventilation :

(A) Ledged braced door
(B) Flush door

(C) Loavered door

(D) Panalled door

91. Which is the part of door frame :

(A) Toprail (B) Horn
(C) Bottomrail (D) Hanging style
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. TUSINTT g&1 & T Uga ¢ |
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(B) o< RT ¥
(D) gl R
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(A) FUTE qXATSTT

(B) <SS gxaTST

(C) AfeiT el g=aroT

(D) fdeet TR STl

I AT EATS UTeddl 9 d<iaie= & ford
TIRT BIT &

(A) TS IS SXATOT]

(B) qUTE ERATSIT

(C) AaRE ERaTSIT

(D) fdeet TR STl

B eRATS Pl G BT B3R &
(A) <4 e (B) €
(C) dfed ot (D) BT wersa
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92.

Which is the lowest part of the window frame :
(A) Panal (B) Horn
(C) Sill (D) Bottom rail

93. Clearstory window rotates on :
(A) Top side (B) Middle side
(C) Bottom side (D) Anyside
94. Lantern light window isused at :
(A) Corner (B) Slopy roof
(C) Flat roof (D) Wall
95. Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks
96. Which wood is used for making handles of tools :
(A) Shisham, babool (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun
97. Whatis the unit of timber measuring :
(A) kg/m? (B) kg/m?
(C) n? (D) n¥
98. Which hinge is generally used for doors and
windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge
99. The window which is projected out side the wall of
room is known as :
(A) Casement window (B) Dormer window
(C) Lantern window (D) Bay window
100. A wooden block hinged on the part out side of the
dooris known as :
(A) Cleat (B) Stoper
(C) Horn (D) Eye
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6. There are 16 pages in this Question-Booklet. | 6. 9 Te—gRa®T # Get 16 IS & | SHIGAR BT (9
Candidate on receiving his/her Question-Booklet, E]'{F{—gﬁﬂcbl e IR S9D 93 i 21 afe geedt
should check the pages of the Question-Booklet. If a DI Pl N AfqAT NPT yTE—gRaHT Ferdt 7 ar
candidate receives an incomplete or defective  Ques- I8 IR B WAEH F U] wRe S UNieT ITRRT
tion-Booklet, he/she should make a request to the 8 & 10 e & 3=} goodr 9ag & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IFIGIR UeT—YRTHT Uaq ITR—UAF ¥ Hel 9l T
tion mark anywhere in the Question- Booklet or in ¥ fearg <A arae siar (IRre ygam arar @8 =
the Answer-Sheet. Any such mark, if found, will be T Y | AT 9 UHR &1 HIs (29 Ul 17 Al I8
termed as ‘Canvassing’ and paper of such candidate HIRAT TSI SITQT 3R U IHEaR & J0R &1
will be cancelled. B fear S |

8. Do not detach any leaf from the Question-Booklet. | 8. UA—gRTAHT # ¥ HIE IS 3T 7 & | Whell & gz
After the Examination, hand over separately the ol geF—gRAPT 3R ITR—UTD HH B UIdeTH Pl
entire Question-Booklet and Answer-Sheet to the drer 9
Invigilator.

9. For each question, four alternative answers have | 9. ul® U & U IR SR ey 2y v & R 4
been provided, out of which only one is correct. Bae Uh B w@E 21 (A), (B), (C), 3k (D) & |aw
Darken the appropriate circle in the Answer-Sheet T fdhed B Bad it / Blol dfct Ufse U BT
by way of using Blue/Black Ball Point Pen, on the P Y STR—U5H H SUGERT Mol Bl R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@% Ueq & ISR & ®Y § dda UF & T [AdHeq
answer. If response is indicated on more than one g afe U gy & oY v ¥ 1 faeedi o e
alternatives or the circle has not been darkened ST AT 2 31T el ol STR—9=F § 9dT¢ Y &I
properly in the Answer-Sheet, as required, it will ¥ Ter (Dark) =&} faam a7 ¥ 7 S o SR AT
be treated as invalid answer and no mark will be GTFQ“T AR 99 SR B U B e TS e |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T IR faU 0 SO} & 5 JoR & gER a7 e
Hence candidate should be very sure about correct DI AT TEl B | SHOY SHIGIR §RT el DI /R
answer before darkening the appropriate circle. In U Ugel e SR gHREd ) forar wu | a0 v
case of corrections or double marking of circles $ IR H GUR B IR AT &I Mell Bl WA TR S
against same question, it will be treated as 3T AT STRIAT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, | 12 wfierr wam § deqeey, Ried s, Igar o
Cellular Phone and Pager in the Examination Hall is TaH YoR BT AT UG XA TIH SIBT YA HRAT
prohibited. afig 2

13. Each question carries one mark. There is no | 13. yxe YT &1 Udh 3 & | Told SN & [0 Bls i
negative marking for any wrong answer. T8I BIeT ST |

14. If any discrepancy in the Hindi translated version of | 14. af3 f&dl wm7 & uyed # =) w1 & orgare # @8
any question is found, the question given in English I o SRl & A1 SRS W W fImr W ued 81
language will be treated as final. JFf=aH BRI |

SPACE FOR ROUGH WORK
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PART-I GENERALAWARENESS / KNOWLEDGE

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
2. Bijapuris known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
3.  Light fromthe Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
4.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
5. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
6. The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
7. Who was the regent of Akbar in his early days ?
(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal
8.  Vikram Sarabhai Space Centre (VSSC) is located
at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru
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RIS T BT RATIAT He gAY 2f1?
(A) 1962 (B) 1948
(C) 1920 (D) 1953

JIoMYR s ford ST SIar &7
(A) V0T GERRT &5

(B) et I
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10.

11.

12.

13.

14.

15.

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

9.

10.

BTRg SO-RR o 39T 3ifaH fhde e a9
U BNG—HETH WR el | Fforad # | wsf

IBI 3T IffH e Fa WaAr?
(A) foeet (B) el
(QRENEIE! (D) g%

YR UAaRIB HISSYH & AT Hel
Rera 27

(A) DABT
(C) 3 faeelt

(B) wifuifer
(D) <&

PART-I ELEMENTARY MATHEMATICS

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after

3 years ?
(A) Rs. 1380 (B) Rs. 1290
(C)Rs. 1470 (D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C) Rs. 2310 (D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54
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12.
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15.

5200 ®UY Bl FRIFT IR 6 UfArd a1ffie &l %

I ST 9T BT ARV TS fhadr R?
(A) 450 ST (B) 524 ®Y
(C) 600 BT (D) 624 ST

1200 U0 &1 g=RIFT 5 Ufcrerd AremRer aifiya
TS BT TR F A9 U7 91 fhad=1 8 SIefY?
(A) 1380 U (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

2100 ST &Y F=RIFY 5 ufoera &) aiffs aswafy

o <) 9 & aY 978 fhadr & S
(A) 2300 T (B) 2315.25 0
(C) 2310 B9 (D) 2320 TI

If& CANDLE &7 f#T e (drs) # EYPBNC
forRgd € A1 FLAMES &1 391 d¢ H @ fofa?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed § =1 $IH -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54
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16. Inapicture on wall Ram showed anold manand 16, S9N W o1 U = &1 f@rex | = gdmam

said “his son is my son’s uncle”. How is the old % 59 95 @6 &1 g3 WX QI &1 a1 & "I
man related to Ram? P J§ A T FEY ©

(A) Father (B) Grandfather (A) fuar (B) ufuar

(C) Brother (D) Uncle (C) g (D) ==

17. Choose correct option in the place of question 17. e (?) B W W 3T fabeg &7 g3+

mark (?): DIRTY
? 10 40 ? 10 40
7 12 50 7 12 50
14 60 9 14 60
(A) 3 B) 5 (A3 ®B)5
(C) 8 D)4 ©)8 (D)4
18. Evaluation of 8 x 82 x 87 1is: 18. 8 x8x 8P A B
(A)1 B)0 (A) 1 ®) 0
©)8 (D) None of these ©)8 (D) SIRIH H PIg Aal
19. Find the HCF of 54, 288,360 : 19. 54,288,360 &I Ha<H FHAMAND SITd DITA?
(A) 18 (B) 36 (A) 18 (B) 36
(©) 54 (D) 108 (C) 54 (D) 108
20. What will be the LCM 0of 8, 24,36 and 54 : 20. 8,24,363IR 54 ®T T A FHATIAA D ST DISTI?
(A) 54 (B) 108 (A) 54 (B) 108
(C) 216 (D) 432 (C) 216 (D) 432

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. With which sport Dibeyendu Barua is asociated? 21. éég T3 B ey g W ¥ 27

(A) Chess (B) Football (A) TR (B) Bedrat
(C) Cricket (D) Shooting (C) fhae (D) gfer
Direction : In which answer figure specified components  fdfer : BIF ¥ ITR AMHIT H TARIT MNP & ferse
of key figure are found ? a faemmE 27
22. KeyFigure: 22. FHRIT 3Pl
$X 3T d

Answer Figure : . 4 $+
(A) ®) P P e
o
A
Ox=
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Direction : In Q. No. 23 and 24 a related pair of words is

23.

24.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 25-28) Choose the correct altenative

25.

26.

27.

28.

29.

30.

given to replace the Question mark (?) :

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG ::NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR ::BCDE :?

(A) KLMJ (B) KLMN
(C) IuVvM (D) STUM
PNLJ:IGLC :: VIRP:?

(A) QMKI (B) RSTU
(C©) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
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fader : 39 Wo 23 —24 H v}

23.

24.

T 7 | QU T fadedl § | 99 Siie Bl g
ST dfied ¥ A T Siie ST |ee g9rdr @

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

foder : ueT o 25 —28 oy T [Ahedl # WL Ay

25.

26.

27.

28.

29.

30.

BT T P ST U9 g & 4 o 99 -

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR ::BCDE :?

(A) KLMJ (B) KLMN
(C) IuVM (D) STUM

PNLJ:IGLC :: VIRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

NI Bl ST PO

(A) TaRTe (B) A1S¥

(C) SEher (D) &

I T RApcal #§ GTd BT T I -
(A) TR (B) #ireA

(C) TRY (D) ST
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PART-I HINDI

31, G Bl fadd vreg 2
(A) oTg (B) 3T
(C) 3t (D) B
32. YA BT fadiv Ieg 2
(A) 9177 (B) I
(C) uRig (D) =TT
33. ‘3 BT UG g BT B
(A) 3raTq (B) 37T
(C) 3t (D) wat
34, ‘BHS BT UG g T8I B
(A) HHT (B) ¥R
(C) STt (D) &
35. BT BT Hel' | e ®
(A) WETd & HA1S  (B) FESl UK a%]
(C) T T2 %] (D) RIS @l &
36. IR B IR BT I B
(A) 9RF—TaT | &1 g8 wc
(B) G <T
(C) S3T AN HRIl
(D) 37U BHRAT
37. ST 9T 9 3T B 39D ol Udh e
HIT—T 87
(A) XRETH (B) ST=TEr
(C) gaRTg (D) IR
38. S q@d H 0¥ onar ©° & folv uah v’
PIT—T B8?
(A) MHYD (B) H-HI8 D
(C) ez (D) IRellfdd
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fAder yo 39 & 40 : f=feRaa gy & 17 of9r

39.

40.

¥ 3t 3 o fafed @R

(A) TSI BT I
(B) T &1 A
(C) &1 & <iall
(D) P1E Ffe T

(A) oo | A

(B) &= A
(C) =nify forerch
(D) dIS Ffe &l
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PART-1 ENGLISH

Directions (31-32) : In each of the following questions, a

31.

32.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) I brush my teeth every day at 7 O’clock in the
moming

(C) I'brush my tooth every day at 7 O’clock in the
morming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (33 -34) : In each of the following questions,

33.

34.

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

CARPENTER-06

Directions (35-36) : In the following questions, some parts

35.

36.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. If a
sentence is free from error, then your answer is (D),
i.e. No Error:

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (37-38) : In each of the following questions,

37.

38.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... of'lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

Direction (39-40) : From the given alternatives in each

39.

40.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing
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41.

42.

43.

44,

45.

46.

47.

48.

PART-II CARPENTER

What is the length of Rule?
(A) 30 cmand 60 cm

(B) 2 ft.

(C) 4t

(D) 0.1 meter

Try square is used to make which angle?
(A) 30° (B) 60°
(C)90° (D) 90° above

Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°

Which tool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge

What is the use of Marking knife?
(A) to make mark

(B) To cut pencil’s mark

(C) To make the hole

(D) All of these

How many types of calliper are used?
(A)1 (B) 2
©)3 (D) 4

What is the use of Divider?
(A) To make the mark

(B) Todivide

(C) Tocut

(D) To make the circle

What is the use of plumb Bob?
(A) To measure plainness

(B) For cutting

(C) To measure straight length
(D) None of these
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41.

42.

43.

44,

45.

46.

47.

48.

el B TS fhd= 27
(A) 30 0. 510 TAT 60 H0.H10
(B) 2%

(C)4me

(D) 0.1 Hrex

2T IR fha S &1 &9 999 & B
T 87
(A) 30°
(C) 90°

(B) 60°
(D) 90° & 31fe®

Hex WARR fhar St &1 ®ror 99 & &m
JTaT 87
(A) 45°
(C) 30°

(B) 30°
(D) 90°

0° 3 180° TH BT BIT g9 & foIq fhsd 3TOTR
&1 JANT fpar e 87

(A) TTS RR (B) #Iex AR

(C) 99t TR~ (D) ¥} VS

BT A18H 7 YANT fhar Srar 27
(A) 9 o= @ forw

B) Ut & R &1 He &=A B folg
(C) IR I+ & fory

(D) Suga I

PR fhad TR & B 27
A1 (B) 2
©)3 (D)4

fSargeR &1 R B BT B ?
(A) e o & forg

B) faaro= @ forw

(C) Be T & forg

(D) g a1 & ferg

o §f9 BT AT T /7
(A) TS A9 B folg
(B) brest & forw

(C) o= A9 & forg
(D) S ¥ BI3 &I
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49.

50.

Which tool is used to make parallel lines on
wood?

(A) Marking gauge
(C) Calliper

(B) Wing campass
(D) Divider

At which angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°

51. Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane (B) Spoke shave
(C) Gilmit (D) Plough plane
52. Whatis the use of G-clamp?
(A) High pressure on wood
(B) To divide in between of wood
(C) To cut the circle shape of wood
(D) All of the above
53. Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these
54. Whatis the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood
(D) To make the mark
55. Whatis the breadth of blade of smoothing plane ?
(A) 5cm (B) 7cm
(C) 10cm (D) 6¢cm
56. Write the second name of sash clamp?
(A) Carpenter bench vise
(B) G-clamp
(C) Bradawl
(D) Bar clamp
57. Which tool is used to keep the correct saw blade
teeth?
(A) Files (B) Marking
(C) Saw-setter (D) Pincer
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49.

52.

53.

54.

55.

56.

AhS] BT TR Y&N g9 & forw fg
TR &1 WA fHar ST &7

(A) FIf T IS (B) {7 Hwra

(C) BeflR (DAECIESK

P i § e dl b S & Pror iR o
ST 87
(A) 40°
(C) 50°

(B) 45°
(D) 60°

GRATS @ Yool H oIl IS (style) T N (rale)
H el T4 & foIg 79 SiSIR &1 JanT T
ST 27

(A) WIS =i
(C) frafie

(B) W& Y
(D) T Tiv

S—el™ & YN Fif fhar Srer 87
(A) TP B HIR TGG S B foTg
(B) Ads! Bl §1 H 31T B & foly
(C) AP Bl TMATHR Blew & folg

(D) Sugad qT

IS TAT BIC R IR & o {64 3R
BT JART fhar e 27

(A) XTiT 59 SESE]

(C) I+ DA (D) 574 ¥ Big TE

XTI BT TART 1 fhar Sirer 87
(A) 9! THR & & 99 & fory
(B) THs! Bl TdM & forw

(C) THS! Hed & forg

(D) fem o= & forg

T ©F B IS B drerg fhael gl 87
(A) 5 90.H10 (B) 7 0.H10
(C) 10 H0.#0 (D) 6 Ho0.HI0

I Holv BT R BT AW | ST SIar g7
(A) PRUYSR I+ 9159

(B) S—et

(C) SsTed

(D) IR—Fel

I B ard fbd MR & 3 fhy T 87
(A) BTScl (B) HrfepT

(C) |i—ex (D) o=z
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58.

59.

60.

61.

62.

63.

64.

65.

What is the use of pincer?
(A) To tap nails

(B) To drawn nails

(C) Both (A) and (B)

(D) None of these

Plaining is the. ............ process:
(A) First (B) Second
(C) Third (D) Fourth

Which work is called as chamfering:

(A) Cut the outer surface

(B) Make the edge

(C) Sharp the corner

(D) Sharp the edge of joiner and corner

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

If wood is cut above 45° angle than it is called as?
(A) Batten (B) Milled
(C) Bevel (D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng

What is the use of hinge?

(A) To fix chowkhat

(B) Connect the shutter of door, window, ventila
tor to chowkhat

(C) Where the fastening are subjected to
considered tensil stress

(D) All of these
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58.

59.

60.

61.

64.

65.

=R &1 TN R far ST 27
(A) BT ST B oy

(B) Biet fepre & forg

(C) (A) 3R (B) <

(D) 378 A BIS &I

I (7T T BI=s fbar 87

(A) gEell (B) ga
(C) T (D) T

foa dd o1 AR BEd 27

(A) 91X feEH aTell a8 B Bre]

(B) fHAR F91T

(C) BIFT BT BleA]

(D) 9TeR fa@= a1et ARG DI qAT ADhS! D DI
B BT

faefRr f&d wed &7

(A) AHS! B Th & HUR b TGHR Sl
(B) TSl B fHIRI & SireAT

(C) THSI & 2 HRI Bl fddl fhAR R S
(D) B8 WR AGS! Bl SIS

DS H IR Helg B BIV 45° | SITGT Bl
27 SW T Hed 87
(A) e
(C) diaet

(B) fes
(D) FRT

dPS! & HFER HI Fd8 Bl I Ydell B
ddhel W udell IMe A b BT T B &7

(A) draet (B) AT

(C) e )EIRINI

sl @ RIRT ®r Aer qen IR 99 B RaT
PHEd 27

(A) I=ple (B) gfeT

O (D) T

pesll DT AT T fbam ST 2

(A) TrEge R & folg

(B) Ucel TR RIsadh! &I dige | e &
ferg

(C) S8l R SIISI BT SAATS ¥4 &l

(D) 37 a1 @t & forg
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66.

67.

68.

69.

What is assembling?

(A) Todivide

(B) Break

(C) Tojoining

(D) Joining to already prepared parts for obtaining
required

Which of the following is holding tool?

(A) Carpenter bench vice

(B) Rebating

(C) Caliper

(D) Nails

............ is a wide thick and wooden heavy board :
(A) Rebating (B) Seasoning

(C) Planing (D) Plank

................ is a piece of section rectangular or square

of wood used at joints of wood:
(A) Plank (B) Screw
(C) Batten (D) Bolt

70. To make the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding
71.  Which hammer is used to pull out the nail from
wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet
72. What type of wood should not be used for door
frame work :
(A) Merandi (B) Teak
(C) Saagwan (D) Shisham
73. Whatis the characteristics of endogenious tree :
(A) More in width (B) Low in height
(C) More in length (D) More in layer
74. Whatis the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullary rays (D) Pith
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66.

67.

70.

74.

SRl T 87

(A) 3TeTT— T PRl

(B) TS

(C) SIS

(D) Ugel ¥ TIR UIE Pl T1d & AR
$hg BT

Sﬂ*—i Tﬁ b Gl 3SR Uhs dlell AR %?
(A) BRUSR §+a 9154

B) Rae

(C) PAR

(D) &I

............. B! DT ArST TAT BB HICTS dTell T
BT &7

(A) RafeT
(C) =i+

(B) AT
(D) e

.................. ADHS! BT AR IT SAATHR AR BT
TP CHel BT & T ddel & el IR T
g

(A) i
(C) 9e

(B)
(D) diee

Ahel H T YRR T D BT P
PHEl STl 87

A) 1%@._?4" (B) Rafe
(C) AIfST (D) IR

. PIF IT gellel dId Ndbria & & 3dT &
(A) 9T o gefteT  (B) i fud geiteT
(C) Tl gedteT D EENEIRS IS

P W TPl ATl I RIS g9 H YA

T BT TRy

(A)ﬂ?ﬁ’[ (B) <
(C) ArTat (D) IR™
. YOS g&T &7 R Uga ¢ |
(A) SITET ST (B) BT
(C) SgraT ot T (D) SITET 9Rd Tl

J&T BT TG AR dTel AT Bl T Hed &
(A) MIR® qahel  (B) faaT s
(C)7ger fovot (D) M
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75. Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer

76. Which jointis not a longitudinal joint :
(A) Laping joint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint

77. Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail

78. The age of tree is determined according to the :

(A) Heart
(C) Bark

(B) Closed rings
(D) Madullaryrays

79. Which door is very low secured :
(A) Flush door
(B) Ledged door
(O) Rolling steel door
(D) Panalled door

80. Which door is used for privacy & ventilation :
(A) Ledged braced door
(B) Flush door
(C) Loavered door
(D) Panalled door

81. Which s the part of door frame :
(A) Toprail (B) Horn
(C) Bottom rail (D) Hanging style

82. Which is the lowest part of the window frame :

(A) Panal
(C) Sill

(B) Horn
(D) Bottomrail

83. Clearstory window rotates on :

(A) Top side (B) Middle side
(C) Bottom side (D) Anyside
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75.

76.

77.

78.

79.

80.

81.

82.

&3.

B AT ANVR g &= § 53T =81 fohar S

%—.

(A) frfere (B) YT o

(C) THTHAT (D) =R

EZRISIREISASH G BT ISIS Ll

INGERSIS (B) <afoiT Sirs

(C) R Sire D EEESRSIS

Yeld iR @ o & A ddbs! TN 8l &
(A) 34 (B) AR

(C) |red (D) B

P9 & AR J&T Bl MY AT B ST 2
(A) fear & B) < R 9
(C) gabe A (D) gl X

JRel & T H [HF YR P XA Fa9
FHAGR

(A) |UTE AT

(B) TIoTS gATST

(C) el el gRaro

(D) faeel TR ERETSTT

I AT SIS UTeddl d d<ioie= & ford
TN BT &

(A) ofos IS ST

(B) \UTC &=ATol

(C) ATaRS &xarsil

(D) faeel TR SRETST

B SIS Bl dRIC BT R 2
INEERG (B) &
(C) dfeH o (D) BT Iz

Rasadl @1 dikae & el R B &1 Fed
%-.

(A) fewa (B) &

(C) Rra (D) dfcH Xd
TR R RagaT waf | gadl &
(A) SR ¥ B) 9 &
(C) ¥ 9 (D) FE | i
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84.

85.

86.

87.

88.

89.

90.

91.

92.

Lantern light window is used at :
(A) Corner (B) Slopy roof
(C) Flat roof (D) Wall

Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks

Which wood is used for making handles of tools :
(A) Shisham, babool (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun

What is the unit of timber measuring :
(A) kg/m’ (B) kg/nv?
(©) m’ (D) m?’

Which hinge is generally used for doors and

windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge

The window which is projected out side the wall of
room is known as :

(A) Casement window (B) Dormer window

(C) Lantern window (D) Bay window

A wooden block hinged on the part out side of the

dooris known as :
(A) Cleat (B) Stoper
(C) Horn (D) Eye

What is the length of Tenon saw?
(A)25cmto 30 cm
(B) 20cmto 25 cm
(C)20cmto 35 cm
(D)30cmto35cm

What is the use of Dovetail saw?
(A) to make marks

(B) to make shallow cut

(C) to make large cut

(D) None of these
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85.

86.

87.

88.

89.
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91.

92.
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93. Whatis the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm

94. When is the key hole saw used?
(A) to make the hole
(B) to cut from innerside of wood

(C) to make the circle shape of wood
(D) Both (A) and (B)

95. Which tool is used to make small curves in a
confined space ?
(A) Rip saw
(C) Cross cut saw

(B) Compass saw
(D) Firmer chisel

96. Whatis the length of compass saw?
(A)20cmto 30 cm
(B) 25cmto 40 cm
(C)30cmto40cm

(D) 50 cm

97. Which saw is used for cutting the thick wood

perpendicular to the grain ?
(A) Tenon saw (B) Dovetail saw
(C) Cross cut saw (D) Rip saw

98. Whatis the length of Bow saw?
(A) 25 cm (B) 25cmto35cm
(C)35cm (D) 35cmto40 cm

99. What s the property of coping saw blade?
(A) Longblade (B) Very thinblade
(C) Thin and short blade (D) Thick blade

100. Why are the chisel used?

(A) Moulding work

(B) To make the hole

(C) Both (A) and (B)

(D) None of these

CARPENTER-06

15

93.

94.

95.

96.

97.

98.

99.

100.
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Candidate on receiving his/her Question-Booklet, qg:[—gf%qqﬂ e IR S9D 9 e € | afe odemedt
should check the pages of the Question-Booklet. If a Pl Pl R AAAT YT YTE—gRABT el & or
candidate receives an incomplete or defective  Ques- I8 R B TAed F U] R S UNel TN
tion-Booklet, he/she should make a request to the B B 10 e & 3r<x gooar dhd & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. I™IGIR UeF—YRTHT Taq STR—UAF § PHel 1l T
tion mark anywhere in the Question- Booklet or in ¥ feag <A arar siar (e ygam arar &g A=
the Answer-Sheet. Any such mark, if found, will be T oV | Afe $9 UBR BT Bl =M U TAT T I8
termed as ‘Canvassing” and paper of such candidate HIRAT" T ST 3R U IHIEAR & YW Y58
will be cancelled. B FEIT S |

8. Do not detach any leaf from the Question-Booklet. | 8. UA-gRTGHT # ¥ HIE TS 3felT 7 HX | Well & v
After the Examination, hand over separately the qof ge—gRA®HT 3R ITR—UTD HHY © UIdeTd Pl
entire Question-Booklet and Answer-Sheet to the drer 4
Invigilator.

9. For each question, four alternative answers have | 9. ul® g & U IR SR fAeey 2y 1w & R 4
been provided, out of which only one is correct. Baed Uh & e =1 (A), (B), (C), 3k (D) & wa
Darken the appropriate circle in the Answer-Sheet TE fdemed B Bad ol / Blol dfct Glge U BT GANT
by way of using Blue/Black Ball Point Pen, on the B U STR—UTd H ST el BT W < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@% yeq @& SR & ®Y § dad UF & TE1 [Adeq
answer. If response is indicated on more than one 2 gfe b gz & forw U ¥ &1 fahedi ux e
alternatives or the circle has not been darkened ST 1T 2 31T el ] STR—U=% § 9dTY Y &I
properly in the Answer-Sheet, as required, it will ¥ Ter (Dark) &t fpar 77 & @ S T SR A
be treated as invalid answer and no mark will be W AR 99 SR B U B 3 ST FonT |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T IR fou 0 SR & 5 UoR & GUR AT oM
Hence candidate should be very sure about correct Bl A TRl B | SHONY IHIRAR §RT el Bl W+
answer before darkening the appropriate circle. In U Ugd 2 SR gAREd H forar wv | &0 ue
case of corrections or double marking of circles $ IR H IR B UL IJFAT AT Al B AR TR I
against same question, it will be treated as JTHTI AT STRATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, | 12 e wa % dergeres, fSfed spe), Iqger B
Cellular Phone and Pager in the Examination Hall is T UoR B SO AT TqH BT TRANT BRAT
prohibited. afid 2

13. Each question carries one mark. There is no | 13. Ud U &1 Tsh 3ih & | Told SAN & folU BIg ik
negative marking for any wrong answer. 31 BIeT ST |

14. If any discrepancy in the Hindi translated version of | 14. afq &=l 90T & uew # 2= w191 & o/qarg # &5
any question is found, the question given in English Ffe uE SN § 1 oSN AT ¥ fImr T ued 8
language will be treated as final. =\ BRI |

SPACE FOR ROUGH WORK
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PART-I GENERALAWARENESS / KNOWLEDGE

Who among the following is present Chief Minister
of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

The °Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
CARPENTER-06

1.

F=IfeRad H | A IQR &7 aaq sl B
27

(A) = Rig rad

(B) TH0 R g

(OREIGRNEY
(D) HY B

I g W B T hed & IR
RIS AR & A H freifeliad 7 9 e
O &} Dl SIedl?

(A) fxra B) faf3a ema
(C) Ue (D) 3rfaaRa <9
‘BT’ BT oI fha drrr or?
(A) T AT

(B) % TTIEIGY

(C) T® &¥Mfdg

(D) T d

YRS BTl H haR Pl ﬁwswdu B oT?
(A) 99 B (B) Izl

(C) 9RTE (D) TreHa
faspa ARMTS 3fdRer = Pal Rerd 87
(A) faedage (B) T

(C) TERMETE (D) §7Telo

BT SOk o 39T 3ifqy fhdbe e 89

U ENG—HE WR Wl | Frfailad § & waf

I+ 39T JffeH e {9 Wolr?
(A) Teeelt (B) detdT
(OREREI (D) gri$

IR UIARIEYT BISSIH 1 JEATAT hal
Rera &7

(A) Db
(C) 78 faeeit

(B) ifuifer
(D) <BIgT

NIRRT T BT RATIAT He gl 2f1?
(A) 1962 (B) 1948
(C) 1920 (D) 1953
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9. Bijapuris known for : 9.

10.

11.

12.

13.

14.

15.

(A) Severe drought Area
(B) Gol Gumbaz

(C) Heavyrainfall Area

(D) Statue of Gomateswara

Light from the Sun reaches us in nearly : 10.

(A) 2 minutes
(C) 8 minutes

(B) 4 minutes
(D) 16 Seconds

dIoMYR frga for ST SImar &7
(A) {7 GEIRA &

(B) et <

(C) 31t gfte aretr e

(D) THaeeR &1 ufadr & ford

I BT YBT §F T (ol 3afe H ggear 22
(A) 2 fiFe (B) 4 fiFe
(C) 8 fA1e (D) 16 DTS

PART-1 ELEMENTARY MATHEMATICS

If CANDLE is written as EYPBNC, in certaincode  11.

then in that code FLAMES will be written as ;
(A) DJYKCQ (B) HNCOGU
(C) HICKGQ (D) KCHIUA

Choose the correct option in the place of question  12.

mark (?):
2 4 6
18 [ 2 ] 30
162 | 196 | 150
1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

In a picture on wall Ram showed anold manand  13.

said “his son is my son’s uncle”. How is the old man
related to Ram?
(A) Father

(C) Brother

(B) Grandfather
(D) Uncle

Choose correct option in the place of question  14.

mark (?):

> T 10 ] 40

7 |12 ] 50

14 | 60

(A)3 B)5
©)38 (D) 4
Evaluation of 8 x 82 x 8 is : 15.
(A)1 B)0
©) 8 (D) None of these

CARPENTER-06 4

af&¢ CANDLE &7 f&dT e (drs) # EYPBNC
forRgd € A1 FLAMES &1 391 d¢ H a7 fola?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed | =1 $IH -

2 4 6
18 ? 30
162 | 196 150
1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

IR W o U o B fe@res M 7 aamn
% 59 g€ <fts &1 g3 TR YT &I arar 2 |']H
FT g€ H R | © -

(A) foar (B) wftem

(C) wrg (D) ==

U3 (?) D M R 3T fdwed &1 99+
DI

? 10 40

12 50

14 60
(A)3 B) 5
(C)8 (D)4
8 x 82X 85HT B © :
A) 1 B) 0
(C)8 (D) SWRIh H PIg el
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16. Find the HCF of 54, 288, 360 :

(A) 18 B) 36
(C) 54 (D) 108

17. What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(©) 216 (D) 432

18. Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

19. Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?
(A) Rs. 1380
(C)Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

20. Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs. 2315.25
(C)Rs. 2310 (D) Rs. 2320

16. 54,288,360 T He<H AHUAAH ST BISTA?

(A) 18 (B) 36
(C) 54 (D) 108

17. 8,24,36 3R 54 &1 THTH FHIEID ST DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

18. 5200 ®YY B gRIR WR 6 U I b &l

A ST auT BT AR AT a1 8RMT?
(A) 450 ST (B) 524 ®T
(C) 600 U (D) 624 TUY

19. 1200 9 & gaRIFT 5 Uferd AR a1fid
TS BT TR F A9 U7 91 b= 8 SIefY?
(A) 1380 U (B) 1290 ®UY
(C) 1470 ST (D) 1200 ST

20. 2100 BYY BT g=RIRT 5 Yferd &1 arfie ashgfs
o &R ¥ &I a¥ 91¢ fhaeT & SIaril?
(A) 2300 FI (B) 2315.25 0
(C) 2310 T (D) 2320 9

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

Direction : In Q. No. 21 and 22 arelated pair of words is
provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

21. ENQUIRE:ASK::
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

22. FERRY:BOAT::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 23-26) Choose the correct altenative
given to replace the Question mark (?) :

23. NUMERAL: UEALRMN::ALGEBRA:?

(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
CARPENTER-06

fcer : U 0 21 —22 # vIeal &1 Feferd SireT faar
T 7| 3T T Adet | ¥ 9 s @I g
ST dficd ¥ 3 T Siis 991 e <90idr &

21. ENQUIRE:ASK::
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

22. FERRY:BOAT::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fder : ueH wo 23 —26 oA M fawedi § Wl fadey
BT I DI ST Y g &1 W= of 9

23. NUMERAL: UEALRMN : : ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
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24.

25.

26.

27.

28.

29.

Direction : In which answer figure specified components

30.

BDAC :FHEG: :NPMO:?

(A) RQTS (B) NTRC
(©) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) UVM (D) STUM
PNLJ:IGLC ::VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil

(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football

(C) Cricket (D) Shooting

of key figure are found ?

Key Figure:

Answer Figure :

<A

e
A

o8

CARPENTER-06

24.

25.

26.

27.

28.

29.

30.

BDAC :FHEG: :NPMO:?

(A) RQTS (B) NTRC

(©) TRQS (D) RTQS

FGID: OPQR :: BCDE: ?

(A) KLMJ (B) KLMN

(©) IUVM (D) STUM

PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

3T Eﬁf SITd P I?ﬂﬁ :

(A) TRl (B) #r3d

(C) STher (D) &I

¥ T fAhedl & IRFTT &1 o9 DI -

(A) ST (B) #ie1

(C) TR (D) sT&IoT

<d7g 991 Bl el b Wel W &7

(A) RSt (B) HedTd

(C) fobebe (D) zffeT
e : B9 A1 IR Ml H TEAT AT & faere

ac faemm 87

HARIT 3T

IR AP
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31.

32.

33.

34.

35.

fderuo 36 9 37

36.

37.

PART-I HINDI

B’ BT T g T8I B

(A) HeBSt (B) W
(C) STt (D) &
BT BT Aol 9 1 B

(A) WETd & HAS  (B) FEl UK a%K]
(C) T o8 %] (D) AT @l &

IR B IR BT A B

(A) 9RF—TaT | &1 g8 wc
(B) G <T

(C) SIaT 4TSI DRI

(D) 37U BHRAT

S ST ¥ 3T § S [oTY U e
PII—T B?
(A) e
(C) IR

S <@ | g o rar ®° @ folg ud o
PIT—T 87
(A) THYD
(C) forueeft

(B) ST
(D) IR

(B) ATATED
(D) IRt

. feafoRaa areat & S o9
# 3 & S fafza sifow:

(A) UPBfT BT Higdad
(B) <1 &1 A
(C) &1 & ol
(D) ®1g e &

(A) Foor Al |
(B) @A ¥

(C) ify fierch &
(D) PIE Ffe =&

CARPENTER-06

38.

39.

40.

W' BT fad| 7 &

(A) g (B) BI3M
(C) g (D) BT
YA BT A o 2

(A) AT 19 (B) TR
(C) ulig (D) =T
‘3’ BT UG Ieg LT B
(A) 3rauq (B) 31T
(C) e (D) wet
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PART-1 ENGLISH

Directions (31 -32) : In each of the following questions,

31.

32.

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous

(D) Simultanious
(A) Fortuneate (B) Fortuneit
(C) Forchunate (D) Fortunate

Directions (33-34) : In the following questions, some parts

33.

34.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
1.e. No Error:

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) Thevoting

(D) No error

Directions (35-36) : In each of the following questions,

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

35. Sheis......... oflizards :
(A) tearful (B) frightened
(C) afraid (D) terrified
36. Thepriest was innocent ...................... he could not
proveit:
(A) and (B) but
(C) for (D) so
CARPENTER-06

Direction (37-38) : From the given alternatives in each

37.

38.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (39-40) : In each of the following questions, a

39.

40.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in
the morming

(B) Ibrush my teeth every day at 7 O’clock in the
morming

(C) I'brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement
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PART-II CARPENTER

41. Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane (B) Spoke shave
(C) Gilmit (D) Plough plane
42. What s the use of G-clamp?
(A) High pressure on wood
(B) To divide in between of wood
(C) To cut the circle shape of wood
(D) All of the above
43. Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these
44. Whatis the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood
(D) To make the mark
45. What is the breadth of blade of smoothing plane ?
(A)5cm (B) 7cm
(C) 10 cm (D) 6¢cm
46. Write the second name of sash clamp?
(A) Carpenter bench vise
(B) G-clamp
(C) Bradawl
(D) Bar clamp
47. Which tool is used to keep the correct saw blade
teeth?
(A) Files (B) Marking
(C) Saw-setter (D) Pincer
48. Whatis the use of pincer?
(A) To tap nails
(B) To drawn nails
(C) Both (A) and (B)
(D) None of these
CARPENTER-06

41.

42.

43.

44,

45.

46.

47.

48.

SRATS & Yool H o1 XSS (style) T Xt (rale)
# el a9 & forg 6 iR &1 wanT e
STTaT 87

(A) I A
(C) fratfie

(B) W% Y
(DRSHECE

SH—Pel™ & YANT Fif fhar Sirem 872
(A) dHS! & HIR TEG Sl B folg
(B) AHS! Bl 19 H T B B fory
(C) AHS! Bl MATHR BIe & folg

(D) Sugad |4

LT qAT BIC JRRI B & oy 5d 3R
BT WA fhar Sfrem 27

(A)Xde 99 (B) sISfar

(C) TR B (D) T8 & BIg L

XAe S BT YA F®i fear Srar 87
(A) 9 THR @ 8 99 & forg
(B) THS! Bl TGH & forw

(C) THS! Hled & forg

(D) o o & forg

T o & e B drers fha B 27
(A) 50410 (B) 730410
(C) 10 H0.#10 (D) 6 30710

Y Ho BT SR BT M | AT ST &7
(A) BRUSR §+a 9154

(B) S—delv

(C) ST

(D) IR—Fei

AN & BId fha R A 31 fhy SId &7
(A) ®rget (B) e

(C) |A—ex (D) =R

=R &1 TN R A ST /7
(A) BT ST B fory

(B) &Yl fRiaprer & forw

(C) (A) 3R (B) <

(D) 378 A BIS &I
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49.

50.

51.

52.

53.

54.

55.

56.

Plainingis the............. process:

(A) First (B) Second
(C) Third (D) Fourth
Which work is called as chamfering:

(A) Cut the outer surface

(B) Make the edge

(C) Sharp the corner

(D) Sharp the edge of joiner and corner

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

Ifwood is cut above 45° angle than it is called as?
(A) Batten (B) Milled
(C) Bevel (D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng

What is the use of hinge?

(A) To fix chowkhat

(B) Connect the shutter of door, window, ventila

tor to chowkhat

(C) Where the fastening are subjected to
considered tensil stress

(D) All of these

What is assembling?

(A) Todivide

(B) Break

(C) Tojoining

(D) Joining to already prepared parts for obtaining
required

CARPENTER-06

49.

50.

51.

52.

53.

54.

55.

56.

AT (I7]T 1) DI foham 27

(A) T&ell (B) &I
(C) T (D) TR

T BRI B AFBRAT HEd &7

(A) IR @ dTell |adg Bl el

(B) fpR g1

(C) DT BT BT

(D) 9TeR fe@™ arel TR BIF TAT dAHhs! B HIH
CARIIShIl

e fod wsa 87

(A) THS! B Th D HIR U IGHI SISl
(B) dds! Bl fHIRI | Sire]

(C) TPl B 2 HFRI BT fHdl fhIR TR SireAT
(D) BEl W ABS! BT SISl
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57.

58.

59.

60.

61.

62.

63.

64.

65.

Which of the following is holding tool?

(A) Carpenter bench vice

(B) Rebating

(C) Caliper

(D) Nails

............ is awide thick and wooden heavy board :
(A) Rebating (B) Seasoning

(C) Planing (D) Plank

................ is a piece of section rectangular or square

of wood used at joints of wood:
(A) Plank (B) Screw
(C) Batten (D) Bolt

To make the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding

Which hammer is used to pull out the nail from

wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet

What type of wood should not be used for door
frame work :
(A) Merandi
(C) Saagwan

(B) Teak
(D) Shisham

What is the characteristics of endogenious tree :
(A) More in width (B) Low in height
(C) More in length (D) More in layer

What is the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullary rays (D) Pith

Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer
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(A) ITIRP qabed  (B) faeT w13
(C) #gen foxet (D)
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(C) THTHAT
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66. Which jointis not a longitudinal joint :
(A) Lapingjoint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint

67. Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail

68. The age of tree is determined according to the :

(A) Heart
(C) Bark

(B) Closed rings
(D) Madullary rays

69. Which door is very low secured :
(A) Flush door
(B) Ledged door
(C) Rolling steel door
(D) Panalled door

70. Which door is used for privacy & ventilation :
(A) Ledged braced door
(B) Flush door
(C) Loavered door
(D) Panalled door

71.  Which is the part of door frame :
(A) Toprail (B) Horn
(C) Bottom rail (D) Hanging style

72. Which is the lowest part of the window frame :

(A) Panal
(C) Sill

(B) Horn
(D) Bottom rail

73. Clearstory window rotates on :
(A) Top side (B) Middle side
(C) Bottom side (D) Anyside

74. Lantern light window is used at :

(A) Corner (B) Slopy roof
(C) Flat roof (D) Wall
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e ige RasaT el TN Bl &
(A) fPTR =) (B) @l B W
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75. Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks
76. Which wood is used for making handles of tools :
(A) Shisham, babool  (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun
77. Whatis the unit of timber measuring :
(A) kg/m? (B) kg/m?
(€) m’ (D) m?
78.  Which hinge is generally used for doors and
windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge
79. The window which is projected out side the wall of
room is known as :
(A) Casement window (B) Dormer window
(C) Lantern window (D) Bay window
80. A wooden block hinged on the part out side of the
door is known as :
(A) Cleat (B) Stoper
(C) Horn (D) Eye
81. Whatis the length of Tenon saw?
(A)25cmto30cm
(B) 20cmto 25 cm
(C)20cmto35cm
(D)30cmto35cm
82. Whatis theuse of Dovetail saw?
(A) to make marks
(B) to make shallow cut
(C) to make large cut
(D) None of these
83. Whatis the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm
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&3.

T BT ADS! BT 0T T8l &
(A) ArsTfei (B) IR
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AT, Rasd! & AM=Id: DI AT Beoll YA
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PHEAH T

(A) paH< Rasadl  (B) SHR Rasa!
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(B) 20 010 ¥ 25 HOHI0
(C) 20 010 & 35 HOHI0
(D) 30 010 & 35 HOHIO

Sacd At BT TN o w1 & forg faman
STTaT 87

(A) o o & forg

(B) BIC e g9 & oy

(C) 98 & o™ & forg

(D) S ¥ BIg el

Ry &t & aw1g fha gl 87
(A) 60 Ho#I0 (B) 80 Ho#I0
(C) 70 Ho#o (D) 50 Ho#0
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84. When is the key hole saw used?
(A) to make the hole
(B) to cut from innerside of wood
(C) to make the circle shape of wood
(D) Both (A) and (B)
85. Which tool is used to make small curves in a
confined space ?
(A) Rip saw (B) Compass saw
(C) Cross cut saw (D) Firmer chisel
86. What is the length of compass saw?
(A)20cmto 30 cm
(B) 25cmto 40 cm
(C)30cmto40cm
(D) 50 cm
87. Which saw is used for cutting the thick wood
perpendicular to the grain ?
(A) Tenon saw (B) Dovetail saw
(C) Cross cut saw (D) Rip saw
88. Whatis the length of Bow saw?
(A) 25 cm (B) 25cmto35cm
(C)35cm (D)35cmto40 cm
89. Whatis the property of coping saw blade?
(A) Longblade (B) Verythinblade
(C) Thin and short blade (D) Thick blade
90. Whyare the chisel used?
(A) Moulding work
(B) To make the hole
(C) Both (A) and (B)
(D) None of these
91. Whatis the length of Rule?
(A) 30 cm and 60 cm
(B) 2 ft.
(C) 4tt.
(D) 0.1 meter
92. Trysquare is used to make which angle?
(A) 30° (B) 60°
(C) 90° (D) 90° above
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93.

94.

95.

96.

97.

98.

99.

100.

Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°

Which tool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge

What is the use of Marking knife?
(A) to make mark

(B) To cutpencil’s mark

(C) To make the hole

(D) All of these

How many types of calliper are used?
(A)1 B)2
©)3 (D) 4

What is the use of Divider?
(A) To make the mark

(B) Todivide

(C) Tocut

(D) To make the circle

What is the use of plumb Bob?
(A) To measure plainness

(B) For cutting

(C) To measure straight length
(D) None of these

Which tool is used to make parallel lines on
wood?

(A) Marking gauge
(C) Calliper

(B) Wing campass
(D) Divider

Atwhich angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°
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tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H el A1 3T
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alternatives or the circle has not been darkened SRTTT T7T 2 31al el bl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Teld SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U I i ST FonT |
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13. Each question carries one mark. There is no | 13, yx% UST &I Th b & | Told SN P [T BIs 3ib
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PART-I GENERALAWARENESS / KNOWLEDGE

The °Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953

Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara

Light from the Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
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BT SOk o 3791 3ifqy fhdbe o 89
U BNG—HET WR Wel | fr=aferiad § & waf

IBI= 39T JffH e {9 Wolr?
(A) et (B) deTdh<l
(QRLEREI (D) g=g
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Rera 87

(A) DADT (B) arfSifer
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10.

11.

12.

13.

14.

15.

16.

Who among the following is present Chief Minister
of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

9.

10.

frferRed § | A-gR &7 aaae g9l I
g7

(A) B Rig rad

(B) TH0 A Riw

(ORE2SANES

(D) ¥ B

s RiEerd W 5 T e & AR
RIS 1Y & 1A H freforiRaa | | feaat
IAUET ol DI SIC?
(A) fa=mr

(C) deH

(B) T3 ama
(D) rfdaRa a9

PART-I ELEMENTARY MATHEMATICS

In a picture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old man
related to Ram?
(A) Father

(C) Brother

(B) Grandfather
(D) Uncle

Choose correct option in the place of question
mark (?):

? 10 40

7 12 50

9 14 60
(A)3 (B) 5
©)8 (D) 4

Evaluation of 8 x 82 x 87 is :

(A)1 B)0
©)8 (D) None of these

Find the HCF of 54, 288, 360 :
(A) 18 (B) 36
(C) 54 (D) 108

What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(C) 216 (D) 432

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624
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14.

15.

16.

IR W I U o 7 feares M = garan
% 59 9g =R &1 g3 W GF &7 9rar 2 ']
® J§ W T |aY T

(A) fuar (B) uftar

(C) T8 (D) =ren

g3 (?) D M R 3fud fdwey &1 a9+

DI -

? 10 40

12 50

14 60
(A)3 B) 5
©) 8 (D) 4

X 8x85H B B :
A) 1
(C) 8

B) 0
(D) SIRRH H PIg A8l

54,288,360 &1 HeTH HIYAAD S HIFTA?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT TYTH FHAIIID SN DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

5200 ®YI P GERI WR 6 Uferd a1ffie df <
I I 991 BT AR TS fhd=r grm?

(A) 450 ST (B) 524 ®T

(C) 600 BT (D) 624 T
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17.

18.

19.

20.

Direction : (Q. No. 21-24) Choose the correct altenative

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?
(A) Rs. 1380
(C) Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C)Rs. 2310 (D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30
162 | 196 150
1458 | 1372 | 750

(A) 16 (B) 28
(C) 49 (D) 54

given to replace the Question mark (?) :

21. NUMERAL:UEALRMN: ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
22. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
23. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
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1200 U &1 G=RIRT 5 Uferd |eRer arfie
T D &R | A aut 91 fhae 81 SefT?
(A) 1380 T (B) 1290 ®uy
(C) 1470 9 (D) 1200 ®I

2100 Y BT G=RIRT 5 Ufrerd &1 a1 =shgfs
S &) | & 99 qre fha & S

(A) 2300 ST (B) 2315.25 ®UY

(C) 2310 ®T (D) 2320 T

afd CANDLE &! f&l e (@1€) # EYPBNC
forgd 8 A FLAMES &1 S9! §c H 31 foRaTr?
(A) DIYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

gefag &l Sfd Aeed | =1 I -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

foder : ued Wo 21 —24 A I fabedi # Wl fAdhey

21.

22.

23.

BT I DI ST Y9 forg &1 = of 9

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE : ?

(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
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24.

25.

26.

27.

PNLJ:IGLC :: VIRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting

Direction : In which answer figure specified components

28.

of’key figure are found ?

Key Figure:

Answer Figure :

Direction : In Q. No. 29 and 30 a related pair of words is

29.

30.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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PNLJ:IGLC :: VIRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
NI Bl ST PO
INRERE (B) Ar3d
(C) S¥her (D) I
I T Apcdt § 1T BT T I -
(A) =TT (B) i1
(C) TRY (D) STEToT
Qg TORAT DI Ay b Wl A 27?
(A) AR (B) BedTel
(C) febape (D) fe
e : B9 A1 SR Hfa H w1 i & faere
aca faemm 87
AR 3MHA
IR 3T

fder : U Fo 29 —30 H IgT BT GefT SireT fear

29.

30.

a7 2 | AU T fadent # A 99 Siis @l g
ST dfted ¥ QT Sils ST Heg ST &

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT : :

(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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PART-I HINDI

3. T B W OFT ot 38.

(A) 9h—¥Ta=T | <1 g8 e
(B) T <1

(C) S[ST AIST BRI

(D) 31T T 39.

32. G O ¥ ST ® Sd folv Ud vre
P 87

(A) e (B) STeer 40.

(C) R (D) TRR

33. ST o@q ° O orar © & folv ush vres
P 87
(A) JTHYH (B) FAIEDH
(C) forueeft (D) URalIfdhd

fAder w0 34 & 35 : fa=faRaa arait § O ofer
# Ffe 2 99 fufed ik
34.
(A) UPBfT BT FigAddr
(B) g &1 A
(C) 78l & ofcll
(D) ®1E Ffe Tel

35.
(A) Foor Al |
(B) @A ¥
(C) ify fierch &
D) PIE Ffe &

36. WU Bl fadl¥ v @

(A) °g (B) BT
(C) 33 (D) BT

37. I BT fAdd v 2

(A) A9 (B) 31X
(C) ufig (D) =T

CARPENTER-06 7

‘3’ BT T Ieg TGS B

(A) 3rauq (B) 31T
(C) 34 (D) vef
‘B’ BT JATIATE] g o] ©
(A) T (B) R
(C) STerof (D) BT
BT BT AT’ I a1 B

(A) WETd & HAS  (B) FEl U IR
(C) I 28 a7 (D) THATHT @ &
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PART-1 ENGLISH

Directions (31-32) : In the following questions, some parts ~ Directions (37-38) : In each of the following questions, a

ofthe sentences have errors and some have none. part of the sentence is printed in bold. Below are
Find out which part of a sentence has an error. If a given alternatives to the bold part at (A), (B), (C)
sentence is free from error, then your answer is (D), which may improve the sentence. Choose the correct
i.e. No Error : alternative. In case no improvement is needed your
answer is (D) :

31. (A) She has not completed
(B) her course 37. Ibrushed my teeth every day at 7 O’clock in
(C) Isn’tis the morning :
(D) No error (A) I'brushes my teeth every day at 7 O’clock in

the morning

32. (A) Everycitizenis (B) Ibrush my teeth every day at 7 O’clock in the
(B) Entitled to moming
(C) The voting (C) I'brush my tooth every day at 7 O’clock in the
(D) No error moming

(D) No improvement
Directions (33-34) : In each of the following questions,
sentences are given with blanks to be filledinwith ~ 38.  Only me I can solve the problem :

an appropriate word(s). Four alternatives are (A) Only me can
suggested for each question. Choose the correct (B) OnlyIcan
alternative as your answer : (C) Icanonly

(D) No improvement
33. Sheis......... oflizards :

(A) tearful (B) frightened Directions (39 -40) : In each of the following questions,
(C) afraid (D) terrified there are four different words out of which one is
correctly spelt. Find the correctly spelt word :
34. The priest was innocent ...................... he could not
proveit: 39.
(A) and (B) but (A) Saimultaneous
(C) for (D) so (B) Simultaenous
(C) Simultaneous
Direction (35-36) : From the given alternatives in each (D) Simultanious
question, select the word which is opposite in
meaning of the underlined word : 40.
(A) Fortuneate (B) Fortuneit
35. Fluent: (C) Forchunate (D) Fortunate
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive

36. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing
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41.

42.

43.

44,

45.

46.

47.

PART-II CARPENTER

What is called as mitring?

(A) Connect wooden joining lap one over other

(B) Connect from the edge of wood

(C) The process of joining on any edge of two
members of wood

(D) Connect the wood on anywhere

Ifwood is cut above 45° angle than it is called as?
(A) Batten (B) Milled
(C) Bevel (D) Veneering

What is called a wooden member. When it is
covered with thin costly sheet type of a good wood:
(A) Bevel (B) Noising

(C) Batten (D) Veneering

To make the edge of wooden board straight and
square is known as :
(A) Wainscot

(C) Groove

(B) Shooting
(D) Plainng

What is the use of hinge?

(A) To fix chowkhat

(B) Connect the shutter of door, window, ventila
tor to chowkhat

(C) Where the fastening are subjected to
considered tensil stress

(D) All of these

What is assembling?

(A) Todivide

(B) Break

(C) Tojoining

(D) Joining to already prepared parts for obtaining
required

Which of'the following is holding tool?
(A) Carpenter bench vice

(B) Rebating

(C) Caliper

(D) Nails
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41.

42.

43.

44,

45.

46.

47.

faefRT fod wsa 27

(A) AHS! B Th & HUR b TGHR Sl
(B) TidHe! B fHIRT & SiredT

(C) APl & 2 HFRI Bl fhdl fIR W Sire
(D) BE! WR ABS! Bl SIS

AP H MR BTl BT DIV 45° H SITET BT
27 S R HEd 87
(A) e
(C) Siaet

(B) fes
(D) IR

dPS! ® HHER B Fdg Bl AT Ydell DIF
dhsl W udell IMe A Th BT T Hed &7

(A) diaet (B) ST

(C) de+ (D) afafRaT

qrel o RN B Wer qom AR 999 BT /T
G

INERET (B)EI%“_T

O (D) wAfsiT

Peoll BT YART AT fbam 1T 2

(A) T AR & folg

(B) Ueel Sxaml Rasd! &I dr@e | S @
ferg

(C) ST&f R SISI Bl AR w4 &
(D) 3 &1 @t & forg

R @I 2?

(A) 3TSTT— 3T DA

(B) dre

(C) SIS

(D) U8l | IR UIE B SR @ AR
SHE HRAT

T8 O DI AT VIR Y drall 3R 27
(A) FRYSR §+7 9184

(B) Rae

(C) PelliR

(D) &1
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49.

50.

............ is a wide thick and wooden heavy board :
(A) Rebating (B) Seasoning
(C) Planing (D) Plank

................ is a piece of section rectangular or square
of wood used at joints of wood:

(A) Plank (B) Screw

(C) Batten (D) Bolt

To make the circular hole in wood work :
(A) Chiselling (B) Rebatting
(C) Moulding (D) Boarding

51.  Which hammer is used to pull out the nail from
wooden piece :
(A) Ballpinhammer  (B) Cross pin hammer
(C) Claw hammer (D) Mallet
52. What type of wood should not be used for door
frame work :
(A) Merandi (B) Teak
(C) Saagwan (D) Shisham
53. Whatis the characteristics of endogenious tree :
(A) More in width (B) Low in height
(C) More in length (D) More in layer
54. Whatis the innermort part of the tree :
(A) Inner bark (B) Heart wood
(C) Medullary rays (D) Pith
55. Which tool is not a boring tool :
(A) Gimlet (B) Ratcehet brace
(C) Barmi kamani (D) Pincer
56. Which jointis not a longitudinal joint :
(A) Laping joint (B) Tabelingjoint
(C) Finshingjoint (D) Dovetail joint
CARPENTER-06
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49.

50.

51.

52.

53.

54.

55.

56.

TAHS! BT AIST TAT FE AlCTg AT TG
BT 27

(A) Rafer
(C) =if=iT

(B) rsifir
(D) i

ABS! BT ART AT ATAATHR HFRTT BT
Tdh Thsl Bl & T dAdhs! & Sihel IR e
=

(A) @i
(C) de

(B) U=
(D) dce

AHS H A GIRT T B BT Pl
PHET ST 87
(A) fersferT
(C) FIfET

(B) Rafe
(D) 9T

PIF AT BATST DA BTAT D BT T B
(A) dfat U gedteT  (B) i U geiier
(OECIR>IS (D) AP BT geler

HIF W Abs! exdrol &I dge 9919 H TIRT

T B TRy

(A)‘ﬁ@i (B) <%

(C) AT (D) AR
TUSISH &7 @ 9T Ugd 2 |

(A) SITeT LT (B) BIT

(C) STeT T (D) SITGT U qTel

JeT BT FI 3R dTel AN Pl a7 Hedl o
(A) I<IR® qdhel  (B) faaT s
(C)Fgem faexot (D) for

B9 AT 3NMOIR 58 Hx & YINT =781 fhar S
%.

(A) fraere (B) XTT 99
(C) T (D) o=
I AT SIS Irgeed ST -7 &
INEEESIS (B) 2afeTT ST
(C) fRAT ST I SESESIS
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57. Which timber is used for railways sleepers :
(A) Mango (B) Chir
(C) Sal (D) Kail

58. The age of tree is determined according to the :

(A) Heart
(C) Bark

(B) Closed rings
(D) Madullaryrays

59. Which door is very low secured :
(A) Flush door
(B) Ledged door
(C) Rolling steel door
(D) Panalled door

60. Which doorisused for privacy & ventilation :
(A) Ledged braced door
(B) Flush door
(C) Loavered door
(D) Panalled door

61. Which is the part of door frame :
(A) Toprail (B) Horn
(C) Bottom rail (D) Hanging style

62. Which is the lowest part of the window frame :

(A) Panal
(C) Sill

(B) Horn
(D) Bottom rail

63. Clearstory window rotates on :
(A) Top side (B) Middle side
(C) Bottom side (D) Anyside

64. Lantern light window isused at :
(A) Corner (B) Slopy roof
(C) Flatroof (D) Wall

65. Which is not the quality of the good timber :
(A) Seasoned (B) Weight
(C) Colour (D) Shaks
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59.
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65.
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(C) |t (D) e

P9 & AR J&T Bl MY AT B AT 2
A e s B) a< RT ¥
(C) TFhet ¥ (D) #ga X

AT & =g H Hd YR BT XAl Fa9
IR &

(A) YT <XATSIT
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(B) SqUTS ST

(C) ATaRS &xarsil
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(C) dfcH Xd (D) =R Wz

Rasad! & drage & el R &1 |1 Hed
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(A) feeer (B) &

(C) Rt (D) dfeH o
TR XSIRI @I@Eﬁlﬁ@?{qﬁ%
(A) &R ¥ B) 9= |
(C) ¥ 9 (D) Bar q i
e ige RasaT el T Bl &
(A) fPTR &) (B) @l B W
(C) 9UTe Bd W (D) ¥OR #

FIT I ABS! BT 0T & &
(A) ST (B) ¥R
(C) 3T (D) 3T
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66. Which wood is used for making handles of tools :
(A) Shisham, babool  (B) Mango, kail
(C) Sal, deodar (D) Chandan, Jamun
67. Whatis the unit of timber measuring :
(A) kg/m? (B) kg/m?
Ok (D) nr’
68. Which hinge is generally used for doors and
windows :
(A) Back flaphinge  (B) Strap hinge
(C) Butthinge (D) Rising butt hinge
69. The window which is projected out side the wall of
room is known as :
(A) Casement window (B) Dormer window
(C) Lantern window (D) Bay window
70. A wooden block hinged on the part out side of the
dooris known as :
(A) Cleat (B) Stoper
(C) Horn (D) Eye
71. Whatis the length of Tenon saw?
(A)25cmto30cm
(B) 20cmto25cm
(C)20cmto35cm
(D)30cmto 35 cm
72. Whatis the use of Dovetail saw?
(A) to make marks
(B) to make shallow cut
(C) to make large cut
(D) None of these
73. Whatis the length of Rip saw ?
(A) 60 cm (B) 80 cm
(C) 70 cm (D) 50 cm
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ST 27
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(B) B¢ & g9 & foru

(C) TS Pe oA & ol

(D) 37 & BIg L

Ra df @1 g foba= skl 87

(A) 60 H0HI0 (B) 80 H0#I0
(C) 70 |o#I0 (D) 50 |o#I0
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74.

When is the key hole saw used?

(A) to make the hole

(B) to cut from innerside of wood
(C) to make the circle shape of wood

(D) Both (A) and (B)
75. Which tool is used to make small curves in a
confined space ?
(A) Rip saw (B) Compass saw
(C) Cross cut saw (D) Firmer chisel
76. Whatis the length of compass saw?
(A)20cmto 30 cm
(B) 25cmto 40 cm
(C)30cmto40cm
(D) 50 cm
77. Which saw is used for cutting the thick wood
perpendicular to the grain ?
(A) Tenon saw (B) Dovetail saw
(C) Cross cut saw (D) Rip saw
78. Whatis the length of Bow saw?
(A) 25 cm (B) 25cmto35cm
(C)35cm (D) 35cmto40 cm
79. What s the property of coping saw blade?
(A) Longblade (B) Very thinblade
(C) Thin and short blade (D) Thick blade
80. Why are the chisel used?
(A) Moulding work
(B) To make the hole
(C) Both (A) and (B)
(D) None of these
81. Whatis the length of Rule?
(A) 30 cm and 60 cm
(B) 2 ft.
(C) 4t
(D) 0.1 meter
82. Trysquare is used to make which angle?
(A) 30° (B) 60°
(C) 90° (D) 90° above
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83. Which degree angle is made from meter square?
(A) 45° (B) 30°
(C) 30° (D) 90°
84. Whichtool is used to make 0° to 180° angle ?
(A) Try-Square (B) Meter Square
(C) Bevel Square (D) Straight edge
85. Whatis the use of Marking knife?
(A) to make mark
(B) To cutpencil’s mark
(C) To make the hole
(D) All of these
86. How many types of calliper are used?
(A)1 (B) 2
©)3 (D) 4
87. Whatis the use of Divider?
(A) To make the mark
(B) Todivide
(C) Tocut
(D) To make the circle
88. Whatis the use of plumb Bob?
(A) To measure plainness
(B) For cutting
(C) To measure straight length
(D) None of these
89. Which tool is used to make parallel lines on
wood?
(A) Marking gauge (B) Wing campass
(C) Calliper (D) Divider
90. Atwhich angle the blade is kept in jack plane?
(A) 40° (B) 45°
(C) 50° (D) 60°
91. Which tool is used to make the groove in style and
rale of door leaf:
(A) Special plane (B) Spoke shave
(C) Gilmit (D) Plough plane
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(A) Frem= o & fore

(B) fawre™ & g

(C) Be T & forg

(D) 97 & & forg

g dfg BT TANT AT 87
(A) TS 7199 B foTg
(B) Bresl & forg

(C) U= A9 & forg
(D) S ¥ Bl el

AhS! BT FAMR XG99 & forv fag
AR &1 YT fhar e 27

(A) FTfHT T (B) T STy

(C) BelR (D) f¥argsy

Sih IF § &Ts Bl b f$ & D17 W o
ST 87
(A) 40°
(C) 50°

(B) 45°
(D) 60°

gRATS & ool H oFll I2T8d (style) TT XA (rale)
H Tell g9 @ forv fsg IR &1 vt foha
ST 87

(A) WIS i
(C) Rrartie

(B) 1% Y
(D) &I i
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92.

What is the use of G-clamp?

(A) High pressure on wood

(B) To divide in between of wood
(C) To cut the circle shape of wood

(D) All of the above
93.  Which tool is used to make small and large holes :
(A) Ratchet brace (B) Bradawl
(C) Barmi kmani (D) None of these
94. Whatis the use of Retchet Brace?
(A) To make the hole of every type
(B) To give the pressure on wood
(C) To cut the wood
(D) To make the mark
95. Whatis the breadth of blade of smoothing plane ?
(A) 5cm (B) 7cm
(C) 10 cm (D) 6¢cm
96. Write the second name of sash clamp?
(A) Carpenter bench vise
(B) G-clamp
(C) Bradawl
(D) Bar clamp
97. Which tool is used to keep the correct saw blade
teeth?
(A) Files (B) Marking
(C) Saw-setter (D) Pincer
98. What s the use of pincer?
(A) To tap nails
(B) To drawn nails
(C) Both (A) and (B)
(D) None of these
99. Plainingisthe............ process:
(A) First (B) Second
(C) Third (D) Fourth
100. Which work is called as chamfering:
(A) Cut the outer surface
(B) Make the edge
(C) Sharp the corner
(D) Sharp the edge of joiner and corner
CARPENTER-06
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100.

SH—Pel™ & YANT i fhar Sirem 872
(A) dFS! T HIR TGG Sl B folg
(B) APl B §19 H TelT A & fory
(C) APHS! Bl MATHR BIe & folg

(D) STGHRT T

LT qAT BIC JRRI B & oy 5 3R
BT GANT fhar SIram 87

(A) XTie s (B) st

(C) I AT (D) 37 ¥ Pl TEI

XTI BT YART &7 fhar Siar 287
(A) 9 THR @ 8 99 & forg
(B) THS! Bl TGH & forw

(C) THS! Hled & forw

(D) e o & forg

T o B e B drers fha B 2?
(A) 590.H10 (B) 7 H0.H10
(C) 10 H0.#10 (D) 6 30410

Y Folr BT R fHd AW F ST ST g7
(A) PRUCR §+a 9154

(B) S—deiv

(C) STt

(D) IR—Fei

AN B BId fha R A 3 fdhy SId &7
(A) Brget (B) T

(C) |A—ex (D) =R

R &1 9T & fohar Siar 87
(A) BT ST B fory

(B) &Yl fRapre & forw

(C) (A) 3R (B) &I

(D) 378 ¥ BIg -TE

I (7T 1) =N fbar 87

(A) TEell (B) ga
(C) Ty EIRI

fohd BT Bl IFHRIT B 287?

(A) 9TeR feEH a1ell a8 Bl el
(B) fHaR g1

(C) DT BT Bler T

(D) 9TeR fa@= arel R HIF TAqT ABS! & DI

BT BT
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6. There are 16 pages in this Question-Booklet. | 6. 9 Wei—gRT®T # H{A 16 T & | IRNGAR DI T
Candidate on receiving his’/her Question-Booklet, W—gﬁﬂm e IR IS9P g ey 2 afe gemedt
should check the pages of the Question-Booklet. If a DI DS SRR 3fer@T VYO yE—gRADHT e 7 ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH F U] BN S URET TN
tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H el A1 3T
tion mark anywhere in the Question- Booklet or in 3 few@rg <1 arer srerar fafdre yg=m arer &1 faem=
the Answer-Sheet. Any such mark, if found, will be q ST | AT T UhR BT PHIs {2 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT AT ST 3R VA IRNGIR BT IR I8a
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. Uz —gRT®T # & BIS TS 3T 9 B | TRIEAT & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH SN & UIdedd Bl
entire Question-Booklet and Answer-Sheet to the drer <
Invigilator.

9. For each question, four alternative answers have | 9. U Usd & U IR IR fAdoy Ay v & RBFH A
been provided, out of which only one is correct. Dol Th & W 21 (A), (B), (C), 3R (D) & |y
Darken the appropriate circle in the Answer-Sheet T2 fahed B ddcd It / Blcl dicd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the BT Y STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@ yed & IR & ®Y § dad UF & T8l Adwed
answer. If response is indicated on more than one 2 afe ue g & U us O aifde fawedl w e
alternatives or the circle has not been darkened SRTTT T7T 2 31al el bl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Teld SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U I i ST FonT |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T qR faU MU IR # S YR & GuR AT e
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=+
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | & ge
case of corrections or double marking of circles P IR H IR B IR AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 wden 9o & deigmeey, e SRR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13, yx% UST &I Th b & | Told SN P [T BIs 3ib
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & 1gaQ # &8
any question is found, the question given in English Ffe U Sl & o SfFSn W ¥ fear T ue g
language will be treated as final. JfH 8T |

SPACE FOR ROUGH WORK
CARPENTER-06 16 SET-D




	1751-Carpenter-06-SET-A-02-06-2017.pdf
	1751-Carpenter-06-SET-B-02-06-2017.pdf
	1751-Carpenter-06-SET-C-02-06-2017.pdf
	1751-Carpenter-06-SET-D-02-06-2017.pdf

